
Y
A

LC
M

100
TRA

N
SERV

O
FLIP

-X
P
H

A
SER

X
Y

-X
Y

K
-X

Y
P
-X

C
LEA

N
INFO

RM
ATIO

N
CO

N
TRO

LLER

154 TS-S2 492 TS-SH 492 TS-SD 502

STH06

MPMR

MY

（ ：N・m）

MY MP MR
50mm 77 77 146

100mm 112 112 177

150mm 155 155 152

  ● CE      ●    

■ （ ）
R

         

L
TS-S2
TS-SH

/

TS-SD※

※ TS-SD。
0
1
2
3
4
5
6
7
8
9

10

0 100 200 300 400 500

 (k
g)

 (mm/s)

 8
 16

0
0.5

1
1.5

2
2.5

3
3.5

4
4.5

0 10050 150 200 250 300

 (k
g)

 (mm/s)

 8

 16

■ ー ■ 

■ ■ ※ ■ 

STH06 ー ー ー ー ー

ー ー ー ※2 ー ー ※3

08：8mm S： N： N： ※1 N： 50：50mm 1K：1m
16：16mm R：  

  （ ）
B： Z： H： 100：100mm 3K：3m

150：150mm 5K：5m
L：  
  （ ）

10K：10m

※1. ， 。 。
※2.  （R、L）， 。
※3. 。
※4. DIN P.500。
※5. TS-SD。
※6. 。 P.62。

A

CB C
B

A
A

C

     （ ：mm）     （ ：mm）     （ ：mm）

A B C A B C A C

16

2kg 3000 2123 1436

16

2kg 1500 2091 3000

16

1kg 3000 3000

4kg 2493 1001 680 4kg 710 975 2443 1.5kg 2458 2457

6kg 1571 627 428 6kg 440 603 1524 2kg 1837 1837

8

3kg 3000 1375 932

8

3kg 979 1347 3000

8

2kg 1837 1837

6kg 1571 627 428 6kg 440 603 1524 3kg 1217 1216

9kg 956 378 260 9kg 260 355 912 4kg 907 906

※ 3000km 。 
（ 100mm）

42□
20480 /

※1 ±0.05 mm

＋
8 mm 16 mm

※2 150 mm/sec 400 mm/sec
9 kg 6 kg
4 kg 2 kg

180 N 100 N
50 mm / 100 mm / 150 mm

W61 mm × H65 mm
W108 mm × H70 mm
：1 m / ：3 m, 5 m, 10 m

※1. 。
※2.  。 

“ - ” 。 
P.130。

STH06

※ ： 4
， 。

A

A

(24)

(1
5)

(3
1)

(40)

210（ /  ） 29(C/2-1)×B

B
7

6
+0

.0
3

+0
.0

1
6

36

φ6 +0.03
+0.01 6

C-M6×1.0 8

L

D 14

82
123（ ）

(2.2)
16.5

1±0.5
( 2)

【1±0.5】
( 2)

 ( 1)

44
61

23
.5

55
0.

5
65

± 
0.

3

2-M6×1.0
14

R

6
60 22

R

5H
9 
(+

0.
03

0
 0

)
5

φ5H9 ( +0.030
 0 ) 5

38

G
E(F/2-1)×G 12

2- 8×1.25 16
※

F-φ
6.

8

F-φ
11

39.58

F-M8×1.25
16

30
49

81
99

φ6.6

12

57

 ( 1)

：

 A-A 50 100 150
B 75 48 65
C 4 8 8
D 143 207 285
E 84 98.5 126.5
F 4 4 6
G 40.5 88 69
L 144.5 206.5 284.5
（kg） 6 2.52 3.27 3.6

1. 。
2.  。 
【 】 。

3. R30。

4. ， M6。
5. 。
6. 0.34kg。

S2
S2：TS-S2※4 NP：NPN

PN：PNP
CC：CC-Link
DN：DeviceNetTM

EP：EtherNet/IPTM

PT：PROFINET
GW： I/O ※6

SH ー

ー
SH：TS-SH NP：NPN B：（ ）

PN：PNP N：（ ）
CC：CC-Link
DN：DeviceNetTM

EP：EtherNet/IPTM

PT：PROFINET
GW： I/O ※6

SD 1
I/O

SD：TS-SD※5 1：1m



Y
A

LC
M

1
0
0

TRA
N

SERV
O

FLIP
-X

P
H

A
SER

X
Y

-X
Y

K
-X

Y
P
-X

C
LEA

N
CO

N
TRO

LLER
INFO

RM
ATIO

N

155TS-S2 492 TS-SH 492 TS-SD 502

STH06

STH06

A

A

G 10

19.5 L

16.5(2.2)

25
B

(C/2-1)×B

7

36

C-M6×1.0 8

φ6 +0.03
+0.01 6

6
+0

.0
3

+0
.0

1
6

R

44

6.
5

16
.5

70
±

0.
3

0.
5

48
21

61 6.53-M6×1.0 10

106(2)

(24)

(3
1)

(1
5)

52

F
6

5H
9 
(+

0.
03

0
 0

)
5

R

(3
7)

56

24.5(E-1)×D
DE-M8×1.25 16

 A-A

φ
11

φ
12
 (

4)

6.
8

(M
8)

(16)

50.511.5

 ( 1)

1±0.5
( 2)

【1±0.5】
( 2)

(40)

 ( 1)

φ5H9 ( +0.030
 0 )

5

150（

）

110（

）

 A-A

STH06

A

A

G 10

52

E-M8×1.25 16
 A-A

D

(E-1)×D 24.5

F
6

5H
9 
(+

0.
03

0
 0

)
5

R

(3
7)

56

φ5H9 ( +0.030
 0 ) 5

44

16
.5 6.
5

70
±

0.
3

0.
5

48

21

616.5 3-M6×1.0
10

106 (2)

(24)

(3
1)

(1
5)

(40)

12
 (

4）
φ

11

φ
6.

8

(M
8)

(16)

50.511.5

7

R

6
+0

.0
3

+0
.0

1
6

φ6 +0.03
+0.01 6

C-M6×1.0 8

25

B

(C/2-1) ×B

36

【1±0.5】
( 2)

19.5

（2.2）

L

16.5  ( 1)

1±0.5
( 2)

 ( 1)

150 (

)

110 (

)

 A-A

50 100 150
B 75 48 65
C 4 8 8
D 80 44 66
E 2 4 4
F 80 88 132
G 143 207 285
L 132 196 274
（kg） 6 2.5 3.3 4.26

1. 。
2.  。 
【 】 。

3. R30。
4.  ， ，

（M6）。
5. 。
6. 0.34kg。

50 100 150
B 75 48 65
C 4 8 8
D 80 44 66
E 2 4 4
F 80 88 132
G 143 207 285
L 132 196 274
（kg） 6 2.5 3.3 4.26

1. 。
2.  。 
【 】 。

3. R30。
4.  ， ，

（M6）。
5. 。
6. 0.34kg。




